addition de fractions ( fraction appropriée ) (
fraction impropre )

A1 = Dl O

O

oo | —

N

| —

W~

+ +
UL\ N W

+ +
Do O] W

+
ST EEN

- - -
O =~ b RN

+
O |

Date: Note:

3 2
4+ =
8 6
4 3
— 4+ =
9 9
5 7
4+ =
2 8
3 1
Z 4+ =
8 5
7 5
— 4+ =
2 7
5 4
4+ - =
6 8
1 1
— 4+ - =
4 7
1 6
— 4+ =
2 8
6 2
— 4+ Z =
5 6
7 3
— 4+ =
5 2
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addition de fractions ( fraction appropriée ) (
fraction impropre )

Nom: Date: Note:
3 3 16 3 2 17

4+ = 4=

7 9 21 8 6 24

7 3 41 4 3 7

4+ = =0 -+ =

9 2 18 18 9 9 9

7 2 59 24 5 7 27 3
4+ D= =1 == — 4+ —=_— =3
5 7 35 35 2 8 8 8
1 3 7 3 1 23

4+ = 4+ ==

4 9 12 8 5 40

7 2 43 3 7 5 59 3
—+Z=_" =2 —+Z="=4=
4 5 20 20 2 7 14 14
6.7_, 5.4 41
9 3 6 8 3 3

1 2 5 1 1 11

4+ == 4=

8 4 8 4 7 28

7 2 53 11 1 6 5 1
T Y 4 -=I=1-=
2 7 14 14 2 8 4 4
1 4 17 6 2 23 8
=L —+ =2
2 9 18 5 6 15 15
4 5 17 8 7 3 29 9
S+ = =12 e
3 9 9 9 5 2 10 10

www.snowmath.com


https://www.snowmath.com

